OMB Control No.	0579-0245									DATE PREPARED	8/7/2023	
TITLE OF INFORMATION COLLECTION REQUEST (ICR)	Highly Pathogenic Avian	Influenza (HP/	AI), All Subtype	s, And	Newca	astle D	isease	s (ND);				
Additional line for ICR Title if title is too long.	Additional Restrictions (F	Pet, Performin	g, And Researc	h Bird:	s; Bird	Carcas	sses)					
PART I - ICR INFORMATION, POINT OF CONTACT, FEDERAL REGISTER NOTICE INFORMATION										DATA SUMMARY		
TYPE OF REQUEST Renewal										TAL RESPONDENTS	936	
POINT OF CONTACT (POC) Dr Bettina Helm										TOTAL ANNUAL RESPONSES		
POC TELEPHONE NO. (301) 851-3300										% ELECTRONIC		
DATE PREPARED 8/7/2023										S PER RESPONDENT	4	
PUBLIC COMMENT DOCKET NO. APHIS-2023-0008										TOTAL BURDEN HOURS		
FEDERAL REGISTER NOTICE 88 FR 18514										HOURS PER RESPONSE		
FEDERAL REGISTER DATE 3/29/2023										% SMALL ENTITIES	17%	
PART II - SUMMARY OF ACTIVITIES												
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS	
Application for Permit to Import Controlled Material; Import or Transport Organisms or Vectors (specifically, bird carcasses or parts of carcasses)	9 CFR 94.6(b)	VS 16-3	Info system		1		1	13	13	0.50	7	
Application for Permit to Import Controlled Material; Import or Transport Organisms or Vectors (specifically, bird carcasses or parts of carcasses)	9 CFR 94.6(b)	VS 16-3	Info system		P1	x	1	372	372	0.50	186	
Application for Permit to Import Controlled Material; Import or Transport Organisms or Vectors (specifically, bird carcasses or parts of carcasses)	9 CFR 94.6(b)	VS 16-3	Info system		P3	x	I	278	278	0.50	139	
Import Permit for Transport of Controlled Materials or Organisms and Vectors	9 CFR 94.6(b)	VS 16-6A	Info system		I		1	13	13	0.03	1	
Import Permit for Transport of Controlled Materials or Organisms and Vectors	9 CFR 94.6(b)	VS 16-6A	Info system		P1		1	313	313	0.03	11	
Import Permit for Transport of Controlled Materials or Organisms and Vectors	9 CFR 94.6(b)	VS 16-6A	Info system		P3		1	234	234	0.03	8	

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Approved Warehouse Request and Agreement to Handle Restricted Animal Byproducts (Hunting Trophies and Museum Specimens)	9 CFR 94.6(b)	VS 16-28	Paper		P1		1	133	133	1.00	133
Agreement for Handling Restricted Imports of Animal Byproducts and Controlled Materials	9 CFR 94.6(b)	VS 16-29	Paper		P1		ı	40	40	1.00	40
Agreement for Handling Restricted Imports of Animal Byproducts and Controlled Materials	9 CFR 94.6(b)	VS 16-29	Paper		I		I	4	4	1.00	4
Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts and Other Material	9 CFR 94.6(b)	VS 16-78	Info system		I	x	ı	139	139	0.25	35
Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts and Other Material	9 CFR 94.6(b)	VS 16-78	Info system		P1		ı	147	441	0.50	221
Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts and Other Material	9 CFR 94.6(b)	VS 16-78	Info system		P3		1	3	9	0.50	5
Application of Seals to Shipping Containers	9 CFR 94.6(b)(5)(i)	none	Paper		FG	x	1	147	441	0.50	221
Recordkeeping by Processing Establishments	9 CFR 94.6(b)(5)(ii)(B)	none	Paper		P1		R	2	2	0.08	1
Cooperative Service Agreements	9 CFR 94.6(b)(5)(iii)	none	Paper		P1		ı	1	1	0.08	1
Application for Import Permit	9 CFR 93.103(a), 9 CFR 93.201	VS 17-129	Info system		P1		I	80	80	0.25	20
Application for Import Permit	9 CFR 93.103(a), 9 CFR 93.201	VS 17-129	Info system		I		ı	173	173	0.50	87

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Notification of Signs of Disease in a Recently Imported Bird Allowed to Enter Home Quarantine	9 CFR 93.101; 9 CFR 93.201(c)(2)(iii)(B)(2)	none	Info system		I		1	1	1	0.08	1
Certificate for Eggs from ND Regions	9 CFR 94.6(c)(1)	none	Paper		FG		1	2	174	2.00	348
Certificate for Eggs from ND Regions	9 CFR 94.6(c)(1)	none	Paper		P1		I	174	174	1.00	174
Government seals	9 CFR 94.6(c)(1)(i)	none	Paper		FG		1	2	174	0.50	87
Veterinary Heath Certificate	9 CFR 93.104	none	Paper		FG		1	1	139	0.50	70
Notice of Arrival - Live Animals	9 CFR 93.105	none	Paper		P1		1	80	80	0.16	13
Notice of Transfer - Animal Products	9 CFR 94.15	none	Paper		P1		1	1	1	1.00	1

in prev renewal "2" left off of first field; added back into chart this was for business last time; Changed FG to P1 $\,$